This question paper contains 8+2 printed pages]

Roll No.
S. No. of QuésfioﬁPéper . 5204 o | |
UniquePaperCode ~ :2100% - E
Name of the Paber | : LogicalREasoning . .
Name ofthe Course = : B.A. (Prog.) Phi]osopﬁy (in lieu of MIL)
Semester i |
Duration : 3 Hours | _ | _ ' MaxlmumMarks 75

(Wnte your Roll No. on the top immedxately on 1ecezpt of this question paper.)
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Note : Answers may be written etther in Engllsh or in Hindi; but the same medlum should be

- used throughout the paper.
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'Attempt 4l questions.
o v F I A
Section A
(@vs ‘ar) |
1. {(a) State v_vhetlier the folloWing statements are True or Fglse (a.ny five) . 5
warge R ﬁ'ﬁlﬁf@ﬁ R T m.m.(ﬁé 11'1"-?[)"'-
H A sound deducnve argument is‘one which is invalid and has all true. premlses

@mﬁﬂmtﬂ%ﬂﬁ%ﬁaﬁuaﬁ%aﬂiﬁrﬁwﬂ
SMYRTH ¥ B § | |

PTO. -
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(iQ' I-n the propbsifcioh “Some flowers are fragrant” bo.th équect' and predicate term'sA
| areupdistributed.

“E'T?r € ! | | |

1)) EIO mood is valid in all the ﬁgures

EIO s @ :«ma;ﬁiﬁl § du é’ﬁﬁ 2
(iv) Cbpversion of ‘O’ proposition is__not. pqséible_ :
O’ THAHE 1 e ﬁﬂa.:{ﬁ @ 1_:- .
C(v) ‘A’and ‘B’ prdposiﬁons'are exis?e‘n_tial.ly pqgit.i;ve. _ B
Aﬁnsmﬁmwmﬁwﬁlﬂ% 1_:
(vi) In a cat’egpﬁca} s-yllogism middle terrn'deci_des'_ the-t‘figures.
T W R AeR W @ feife dd 3
- (vii) A and E prop§siti_ops are cdntrary to each other.

A R E TR E@i%faﬂﬁ?r% \
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(b) Flll in the blanks (any f ive) :

ﬁmmaﬁiﬁﬁﬁq(ﬁémﬁ)

) In a valid categorical - syllogism 'middle term must be distributed at least

............................ in'the premises. 7
WéaﬁﬁamﬁﬂmwmﬁwJ ................. e
surRE B Sy %‘Fﬁ afey |

_(ii) Obverse of E PrOpOSItion is ................. e, ....... ;

E a#anaa VEF[ REgT & e |

(ii) AAA is a valid mood in figure ....... e
AAA WI ............................... . m § 8y %

(iv) Contradiction of A proposmon is" ............................. proposmon
A TEAER BT SEEL e %

(v) No COHC]l.JSIOIl can be drawn fOM WO coerverrenvrrecn ieveveeees PTETNISES. " |
By e W@ﬁgﬁﬁw&ﬁmmm
X

(vi) Logic is the .science ) heeerereeens .

e e |
- PTO.
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(vif) Configuration of premise and conclusion décides .......cov. e s mreaesrens ofa
syllogism.

(¢) Answer briefly (any -ten): B | L | . 20
qa ¥ m. Eﬁﬁﬂ (% )
() Name the varidus- relationships betwéen};,"l?,- I'and‘O propositions.
A, E,13R O T ﬂﬁﬁmw 'Q'ETSQ I
,.(ii) Explam .‘di-stributi'on of terms’. | | |
o 7 e T e W |
(iii). State ﬁle nlles of c@version
‘i ﬁmwr [}
(iv) What é;e tl;e qlialit‘y ;nd quantit.y of a prqposition_.{?
T T oR TR e s W €2
{(v) What is a figﬁe ? | | |
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(v Explain the f.allacg.{ of ‘;Uridistributed middle terms”.
‘aaama T W' aaf?fm %t Bm@:n Hif |
(\}fi) What do yoﬁ uﬁ&erétand by Mood ?
S A S w2
(viii) What is syllééism ?
-«uﬁgﬁa R 7 |
- (uc) C@ge the fol]owing into their standard form :
frafafan A w8 afes sieRl § i
(a) ' Men ai'e mortal. " | |
g i |
() Teachers are-ﬁéh. '
(x) In ’l."r.c'a.di-tioﬁal SC]uare of Opposition if A 1s true, then wlia_t c#n be inferrea a%bo_u_t
: E Iand O proposmon 7 |

Wﬁﬁmaﬁﬁu&z\w% ?hElaﬁtoa#am%aﬁﬁ
wa@ﬁmmm%?’
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. (xi) What is obversion 6f “All rri_én are mortal” ?
Yool T FoRie € F ufed TR
(xif) Which term is distﬁbute_d i’n"() pfopositi(;n ?
0 TEaE # T W W ¥ ?
2.© Do any three of the t_'ollbwiné’ : 15
Prafefan § @ fedl W B oW AR ¢
() Difference bctv;reen sehtéﬂce and.propositi‘o‘n.
e e o |
(@) Traditional Square of Oppositilon.
W falw &l )
(ii)) Existential ]mport ‘
T e | |
: (iv) Kinds of bategorical propq'sition_s.l
| 1‘—@# a%am * T
(v) Difference between fallacy of ilficit major and illicit minor.
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(c.r). Using ‘Rule'method” find out the fallacies committed and rules broken in the'follow’ing |

(%)

i ,arguments (any three) : . o | | | L .

ﬁmq@ﬁwmaﬂ%@ﬁﬂmw@ﬁmﬂaﬂtm
-ﬁFQWqﬁW%’TWW(ﬁ?ﬂ'T)

'(;) All—4

(i) ABO—I
(iif) E10—3
(iv) 1AA—4.

Put the following syllogism into standard fonh, name the. Figure, Mood and test its validity/ |

_invalidity(anyone): o - A 4

..mwmmmmﬁmmmmaﬁ

aqawaaﬁgq%wm%mmuﬁmaﬁm(aﬁé@)

(/) No musicians are astronauts and all musicians are actors; thus no astronauts are

actors.

a?rémﬁamnmﬁamﬁqﬁ%aﬂtwﬂmﬁmm% sm%m-_
ﬁmﬁaﬁwﬁ%l
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(#) Some Asians are not Muslims, because some Asians are not Indians and some

Indians ére not Muslims.
Tfem & ¥ | | |
Section B .‘
(e ‘@)
| 4. Explain the following '.withlexamples (any two) : . . . | . | 10
| )] Distipgui_s_h betwet}n fall‘a'(.:.y of Division a.r.ld fa_llacy of Compoéition. S
| (i) Failaéy of co_@ﬁlex question. |
e |
: (i) Dist;nguish EetWegn forq}al and informal fallaf:y.‘ o

@Wﬁm_amﬂﬁrﬁﬁﬁﬁqﬁﬂil
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.Identify and explain the fallacy in the fdllogring- (any five).: - - _ 10
Frafefian & A9 @) e o seed Wﬁfm(ﬁé ta)
‘ :-"(:") _ ‘Exac't'ly how did ybu feel When. ybp-ﬁwdemd ybur' son ? :
I g 9 VA STy A R W fear 2

(i)  Aspirin relieves pain sincé itis analgesic.

Wfr s ¢ wite aw o @ o R
(#i) Al of us cannot be famogs because all of us cannot be well known.

T e W @ v Wi W o g
(v} I can pumhase AorBor C.' The.refore,r I ca‘n. p_uréhésc A and B and C.

'ﬁmﬁtAmBmcﬁ@ﬂawm'{|wfaqﬂA3?r{Baﬂtcaﬁ_
ER wwar §

(v} There is a weight in everything except fire because Plato said this.

mﬁmaﬁﬁm-m%m@awm%u
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(viy Follow my command; otherwise you have to face the consequences.

R o 1 i G T AT mmw T

(vii) My parents are poor and allmg So please give me passmg marks in thls subject

ﬂ’(m—ﬁmnﬂaﬁﬂﬁiﬁa% I mm@wﬁwﬁaﬁﬁw
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